CFK100 &amiroe 0= b s p goms

Ball Screw Drive

IEIEHRSE - HEREFRRTER

The picture is just for the reference. Please check the the actual dimensions on the drawing

Maximum Stroke Maximum Speed Motor[XlOutput BallXScrew

=] 4=1I0 [ =— P}
Ei?’“'-f*i 1220mm REEE 1000mm/s RIRIRIZ P

RUBESR/RA T, Ordering Method

CFK100 - L20 - 920 - BC - T400W - C 4 - MB-3M

ZASESEYER RIFERE 1718
Model Ball Screw Lead Stroke

20 20mm 820 820mm

1920 920mm

1020 1020mm

1120 1120mm

1220 1220mm

l%i&fﬁ% l%%%‘%%ﬁ%‘;/& L%EE% *J?EE'?}FEE%E ﬁﬁﬁ%ﬁ@ﬁﬁ@ﬁg%ﬁ E%Eﬂﬁiﬁﬂ

Motor Position

Motorinstallation Motor Output Home Sensor Limit Sensor Motor Brand
5iE BERRE R Y Out sid Y Out Sid B, FRLE=
BC ﬁk)?lg?gosed T 1EFE§L§§§F$ 400W  400W 9I~.E}§= ut Side SRS Out Side MB-3M ggg %E?f =53
—_— =2 Mitsubishi 750W 750w ¢ RSEM 3 1R 1rc =
BM BETH Zom . ——————— ~| MoforSide o ITEEREFRCRE=
Motor Bottom Sicle BiZE Delta B 4| 28 2pc ZMB =& E S
gL mEL 21| Yoskowa D | Spposite Motor Side | # SENSOR No Sensor FAEWESEHA=ES
Motor Left Side — KMB § a b
EEaR E&JI| inovance w ?’ % SENSOR No Sensor FEEH, ERLE
BR Molor Right Side EZ i E #& SENSOR B EH S BRET.
—_— _— No Sensor #If No Brake,NoB Description.
P RTHRERREE

279 www.cf16.com




uorjearjddy

EHEE e 2% 400-716-8787

A42/94D

BRI/ | BEEM /W —

HANH4E Specification

[ RS IR AR IE] < REH M iimEh> Sensor Layout

IBEEHEE Repeatabiity (mm) +0.01
@?T:%l_gfﬁ Ball Screw Lead (mm) 20

& LDC
~IC (gt 5-24v
Voltage output

o 100mANT

BeiERE Maximum Speed (mm/s) 1000

AC(EIfRFBIZESE AC Servo Motor Output (W) 400 750

EATREE IKE{ERR Horizontal (kg) 32 68
Maximum Payload FEE{ER Veriical (kg 8 20
EFSHES] Rated Thrust (N) 374 640

N4> b El)
FEHRCGE | B/ W —

1EHEITRE Stroke Pitch (mm) 820 ‘ 920 ’ 1020 ‘ 1120 ‘ 1220
I SEERIRIE AT sail screw @ (mm) C7 ¢ 20

= N
[=[a [l SEENZE Coupling (mm) 12X14 ‘ 12X19
Parts

(e}
mn
("]

B/ W —

[REREMERS PAR:Y EE-SX674(NPN)
Home Sensor Outside FC-SPX307-2M(NPN)

3 FHENRIRERE0. 2F) -
Acceleration and deacceleration value is set 0.2 second.

EED] 14D
B HE/ W | BB/ —

A aEH HEEFR Allowable Overhang EERER B HI185 Stafic Loading Moment

il

~ 8

qr

m

B ¢ %

c A . £ E
B e
(E2fi7 Unit : mm) (B2i7 Unit : mm) (BSfi7 Unit : mm) (BE{i7 Unit : N.m) £
KL ESEvE FEZE &
Horizontal Installation QA e © Wall \ntstolloﬁon R e © Vertical Installation R © MY 960 i’
15kg [1150] 392 | 518 | 15kg | 410 [ 422 1260 & | 8kg | 1602 | 1602 ME 960 5

;g 32kg | 713 | 235 | 308 ;% 32kg | 250 | 265 | 803 ;% 14kg | 987 | 987 MR 2205

lead| 68kg | 470 | 190 | 204 lead| 68kg | 162 | 210 | 520 lead| 20kg | 620 | 620  =/mmpimsaimis - A== - 2
The torque value in the chart indicate the center of gravity. w
H* Y EEIREMESERT » REFMA10000RE - g
Operation life is1,0000km when the product is using under the g

specified conditions.

* EDERIEEEMEER  IBTRBELIHITHE -
Data information is not for ceiling-mount inverse use.
Contact us for the details if you want to apply ceiling-mount
inverse usage.

EAEPREBIE—ESR Suitable Motor Brand

ke RERCR EIRERE fRIARRSZELLR BEENSZBLSR ESgh
Brand Mark AC-Voltage Motor Model Driver Model 1C?-fl}2

E|AEBEKEMLR) _ _ _JE-
== No Brake (Horizontal Type) 750 220 HG-KN73J-5100 MR-JE-70A

A s M m
tsubish
MITsUBER BRE(EAIE) 750 220 HG-KN73BJ-S100 MR-JE-70A | crrso(tH)

With Brake (Vertical Type)

AR OKELR) CFK60(H)
. i |, TEREOICTITR) 750 220 MHMF082L1U2M MCDLN35SE o
BE
e BRE(EELE) 750 220 MHMF082L1V2M MCDLN35SE [crrasr)
With Brake (Vertical Type)
RAECICRAHE) 750 220 ECM-B3M-C20807RS1 ASD-B3-0721-L | Leiilil
8 o No Brake (Horizontal Type) CFK100(H)
Delt:
o BREEALE) 750 220 ECM-B3M-C20807SS1 ASD-83-0721-L | FEERTIS
With Brake (Vertical Type)

www.cf16.com




CFK100&HM/1-axis P mxmE . KEGH

BIEIBIBETH

Motor Exposed / Motor Bottom Side

7 4 I I
D m2n® oo e [ 2] @D

142.6
2xm-M2.5x0.45Px4 DP 4-M3x0.5Px6 DP 5538
2x2-M4x0.7Px10 DP 4-M8x1.25Px15 DP ) 20x1.5 DP
w hE L l
4| ® @ = e[ese® ~ ® " ®
[ =]
| | 8
7.5 2 H, 7.
‘ (m-1)x200 r 00 5
70
150 15 A
( I g“;
)| An b |
N e TS ; ==—||8
£,<r | 50} 4 \_>A
25 L1
100 L2
(n-T)x150
SECTION A-A 150

2xn-@ 9 THRU,© 14 X8.5 DP

HERE ZR G(mm) H(mm) 55 (kg)
L2(mm) L1(mm) =
A17BRE
980 1089 820 40 90 7 5 18.6
1080 1189 920 15 40 8 6 20.3
1180 1289 1020 65 90 8 6 22
1280 1389 1120 40 40 9 7 23.6
\ 1380 1489 1220 15 90 10 7 25.3 /
@ i I B umt;mm\
€D Bz T voorsoronsce [z | ]
1426
2xm-M2.5x0.45Px4 DP 4-M3x0.5Px6 DP gg
2x2-M4x0.7Px10 DP 4Bl 25Px15 Db e | 20x1.5 DP
| S ™ |
77777  ——— e — =
—ff*'ffjﬁffff&:ﬁhi ————— E
: i —t == ,
200 H 7.5
(m-1)x200
_"
]
[E———
SECTION A-A =
(n-T)xT50
501G
= ——
£ = = T \
C 0 + < S o = 8

—
Elszaﬂnﬁmx)< L1%‘nEm) G(mm)  H(mm)
980 1061 820 40 90 7 5 19.2
1080 1161 920 15 40 8 6 20.9
1180 1261 1020 65 90 8 6 22.6
1280 1361 1120 40 40 9 7 24.2
\ 1380 1461 1220 15 90 10 7 25.9 /

www.cf16.com




BELIISERR

Motor Left Side / Motor Right Side

REMREEHAR | AR

Toll-Free Number

A% 400-716-8787 |

/ [ il
G’ ESIZEAE T Motor Left Side tgfj tg:j o CADEIEAE w

BB Unit: mm\

1426
2xm-M2.5x0.45Px4 DP 4-M3x05Px6 DF __y 5
2x2-M4x0.7Px10 DP N\ 4-M8x1.25Px15 DR 20x1.5 DP
] i 1
N Sy g mpe——
N [
N L =
Sas i —————
ki
75 15200 200
70 (m-1)x:
5 d::rl: A
oA it
[E—
LY L1 \
100 (n-1)x150 —
SECTION A-A _ p—
| —
& & ©
& L .

8
?\Lz%fn%l: L 1%n§m) G(mm)  H(mm)
980 1061 820 40 90 7 5 19.2
1080 1161 920 5 40 8 6 20.9
1180 1261 1020 65 90 8 6 22.6
1280 1361 1120 40 40 9 7 24.2
\ 1380 1461 1220 15 90 10 7 25.9

/

KG a ESIZHH Motor Right Side tcz:ﬂ tc?i

® CADE/EAE .cf16.com T o

(m-1)x200

NI
~|
T 1] T T
2x2-M4x0.7Px10 D) 4-M8x1.25Px15 D) F 20x1.5 DP
2xm-M2.5x0.45Px4 DP 4-M3x0.5Px6 D %5
70 1426
=50 15 A
B I [
Ao O ™~ * H S = = = |
1 = I
- 150 4 4 | E——y
| <t 2.rL
100
SECTION A-A % < 3 % > %
& 4 4 &

> 2 1

b g |

(n-1)x150 150 |G

2xn-@ 9 THR DP 2
K| |

B i Unit : mm\

]

?2%55 L 1%nEm) G(mm)  H(mm)
980 1061 820 40 90 7 5 19.2
1080 1161 920 15 40 8 6 20.9
1180 1261 1020 65 90 8 6 22.6
1280 1361 1120 40 40 9 7 24.2
1380 1461 1220 15 90 10 7 25.9

)

www.cf16.com

uorjearjddy

A42/94D

BRI/ | BEEM /W —

N4> b El)
FEHRCGE | B/ W —

(e}
mn
("]

EED] EED] 14D
B HE /T | BER A/ | HE /T —

B/

9JUI99Y |LAX/SAX/DAX

B
1 axis

CFK

CFK100(H)




